

Page 1 of 1

#### **Florida Department of Transportation**



Letting:

**Vendor Ranking** 

E1U48-R0

April 15, 2021 11:00 AM Call Order: 008 Contract:

District: District 1 Counties: DIST/ST-WIDE, POLK Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS Contract Desc: Longline Thermoplastic

01210415

**Project(s):** 43272727222 (\*)

Rani	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MCSHEA CONTRACTING, LLC	Responsive	Winning bid	\$612,825.00	100.00%
2	AKCA, LLC	Responsive	Non-Winning Bid	\$684,296.00	111.66%
3	EMERALD COAST STRIPING, LLC.	Responsive	Non-Winning Bid	\$728,380.00	118.86%
4	OGLESBY CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$764,179.00	124.70%
5	ROAD RUNNER STRIPING TECHNOLOGIES INC.	Responsive	Non-Winning Bid	\$817,856.00	133.46%
6	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$955,680.00	155.95%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





#### **Tabulation of Bids**

Page 1 of 4

Letting: 01210415 April 15, 2021 Call Order: 008 Contract: E1U48-R0

District: District 1 Counties: DIST/ST-WIDE, POLK Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS **Project(s):** 43272727222 (\*)

Contract Descr: Longline Thermoplastic

The work under this contract consists of Long Line Thermoplastic.

Line No / Item ID Alternate Item Description	Quantity Units	(1) MCSHEA CONTRACTING, LLC		(2) AKCA, LLC		(3) EMERALD COAST STRIPING, LLC.	
( ) indicates item is bid as Lump Sum	•	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (P	AVEMENT S	TRIPING (LARGE	MACHINE) (LM				
0005 0711 16101 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6"	85.000 R GM	2,932.00000	249,220.00	3,900.00000	331,500.00	3,160.00000	268,600.00
0010 0711 16102 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 8"	1.000 R GM	3,910.00000	3,910.00	5,000.00000	5,000.00	3,800.00000	3,800.00
0015 0711 16131 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SKIP, 6",10-30 SK OR 3-9 LANE DROP		733.00000	54,975.00	700.00000	52,500.00	1,170.00000	87,750.00
0020 0711 16201 THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"	85.000 R GM	2,887.00000	245,395.00	3,000.00000	255,000.00	3,160.00000	268,600.00
0025 0711 16231 THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SKIP, 6"	75.000 R GM	659.00000	49,425.00	400.00000	30,000.00	1,170.00000	87,750.00
0030 0711 17 1 THERMOPLASTIC, REMOVE EXISTING THERMOPLASTIC PAVEMENT MARKINGS- SURFACE TO REMAIN	7,920.000 S SF	1.25000	9,900.00	1.30000	10,296.00	1.50000	11,880.00
0001 PAVEMENT STRIPING Sect	ion Totals:		\$612,825.00		\$684,296.00		\$728,380.00

(LARGE MACHINE) (LM)



04/15/2021

# **Tabulation of Bids**

Page 2 of 4

Letting:	01210415	April 15, 2021	C	all Order: 008	Contract:		E1U48-R0	
Line No / Item		ate Quantity Units	(1) MCSHEA CONTRACTING, LLC		(2) AKCA, LLC		(3) EMERALD COAST STRIPING, LLC.	
() indicates item	is bid as Lump Sur		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:			\$612,825.00		\$684,296.00		728,380.00	





# **Tabulation of Bids**

Page 3 of 4

Letting	<b>g:</b> 0	1210415 A	pril 15, 2021	Cal	II Order: 008		Contract:	E1U48-R0	
	No / Item ID Description	Alternate	Quantity Units	(4) OGI CONSTRUC		(5) ROAD RUNI TECHNOLO		(6) ACME BA	RRICADES LC
( ) inc	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (	PAVEMENT S	TRIPING (LARGE	MACHINE) (LM				
	0711 16101 OPLASTIC, S' CES, WHITE,	TANDARD-OTHE SOLID, 6"	85.000 ER GM	3,460.00000	294,100.00	3,600.00000	306,000.00	4,200.00000	357,000.00
	0711 16102 OPLASTIC, S CES, WHITE,	TANDARD-OTHE SOLID, 8"	1.000 ER GM	8,500.00000	8,500.00	4,100.00000	4,100.00	4,800.00000	4,800.00
SURFA		TANDARD-OTHE SKIP, 6",10-30 S		1,100.00000	82,500.00	1,250.00000	93,750.00	1,500.00000	112,500.00
	0711 16201 OPLASTIC, S CES, YELLOW	TANDARD-OTHE V, SOLID, 6"	85.000 ER GM	3,395.00000	288,575.00	3,600.00000	306,000.00	4,200.00000	357,000.00
	0711 16231 OPLASTIC, S CES, YELLOW	TANDARD-OTHE V, SKIP, 6"	75.000 ER GM	1,080.00000	81,000.00	1,250.00000	93,750.00	1,500.00000	112,500.00
THERM	OPLASTIC PA	EMOVE EXISTIN AVEMENT CE TO REMAIN	7,920.000 IG SF	1.20000	9,504.00	1.80000	14,256.00	1.50000	11,880.00
		T STRIPING Sec	ction Totals:		\$764,179.00		\$817,856.00		\$955,680.00
		Contract Gra	nd Totals:		\$764,179.00		\$817,856.00		955,680.00



04/15/2021

#### **Tabulation of Bids**

Page 4 of 4

**Letting:** 01210415 April 15, 2021 **Call Order:** 008 **Contract:** E1U48-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.